a=3,b=-5%9 |, 2a+4b o] 27

® -4 @ -12 (@)—14 @ 6

® 16

2a+4b =2x3+4x(-5) =6+ (-20) =-14




AN x°C & 3H §x+32°F ot} MM 40°C & ¥ L& Ant
7] F-sfodzt,
> £ °F

[> ®Eh: 104 °F

x =40 & ©je] gro|B2
§x40+32:72+32:104(°}?)




3.

1
x=2, y=-3 ], 3xy - 2x? ©] 3t F5HH?

MD)-10 @ -5 ® -2 @ 3

x=2, y=-3 & 4ol 5}
3xy — 2x2
:3><2><<——)—2><22

-2-8




4., x=-2,y=4<L 0, —x2-xy 9 32"

O -12 @ -4 ® 0 @4 ® 12

—x%—ay=—(-2)2 — (-2) x4 =—4+8 =4




® a-

@ a®+b?

® a+b
b
a




22 o g ool

N
ne,
£

><I>—‘

«<

=1x24+1x(-3)-1x4
=2+ (-3)-4=-5




7120] x°C & w), 489 £%(y) =y = 320 + 0.6x(m/s) ]t}
Q

7|01 20°C & of, &2]9] & =7
@ 330(m/s) @ 331(m/s) @)332(m/s)
@ 333(m/s) ® 334(m/s)

~&B

7]20] x°C & o 229 £x(y)=

y =320 + 0.6x(m/s) O|B&,

71201 20°C € o), 228 £E+=

y =320 + 0.6x = 320 + 0.6 x 20 = 320 + 12 = 332(m/s)




8. 7I27} xem , MZ7} yem , =171 zem Q1 A& HA| ] BYlol&
Scm? &t Sttt x = Tem, y = 4em, z=5cm & ®f, § 9
atolet,

Agdldl= 27171 22 AAAE 2717 o] RojR 3o 2 F
el gleng

S =2x(xXy)+2X(yxz)+2x(zxx) |t

u}ehA] § = 56 + 40 + 70 = 166(cm?) ©]Tt.




S8 2 7]20] r°C ¢ wf, mjx oF (3314 0.6t) m
toh 7] 20] 8°C & o, 7|7} AL 4 = Fof HFadE
ot A7 A AR o ARl E Fstofet (&, 2ol &
)

oA a2l &

ol it Y o

._VL;QHE

seje 2

= m

>
> ®e: 13432m

331+ 0.6 X 8 = 331 4 4.8 = 335.8(m/s)
wtaba] 7]2]= 335.8 x 4 = 1343.2(m) ©|t}.




10.

571 FollA 2F o £¥ol 25 vm L W, F719] 2k [ (v-331)°C

olt}, 47)o] elo] 24 358 m A T, B7]e] LEE Fololat

> & °C

_ i 5
49l £8o] 24 358m O|BE v = 358 & thYystH 3=

331) = g x (358 — 331) = 45

b s2jo] 2lo] 24 s58m A W, B719] LEE 45°C
olt.




